ERAAVDRIE T—U—k

1mol/L 6mol/L 1mol/L 6mol/L

HCI K2CrOa4|NHa NHa NaOH |NaOH |Na:COs|H2S0: |KSCN (A%#57/|a%457/|H2S
S5(I)ER| #5(I0)ES
PLE |BF (L= [BF Yk | hynh
Agt A 1|13 |6|13|20]27] 34 43 Al Ag*
Pb%* B 2 | 4|7 |14]21|28)|35]|37 44 B|Pb%*
2 2
Cu?tlc 8 | 15| 22 | 29 40 45 ClCu?t
2 2
Ccd?* D 9 | 16| 23 | 30 46 D|Cd?*
Fe3t |E 10 | 17 | 24 | 31 39 | 41| 42| 47 E|Fe3*
AR |F 11| 18 | 25 | 32 48 Fl| AR
v cadle 12 | 19 | 26 | 33 49 G| zZn?t
BaZ* |H 5 36 | 38 50 H|Ba%*
HCI K2CrOa4|NHa NHa NaOH |NaOH |Na:CO:|H.SOs |KSCN A*ﬁ?g A*ﬁ?g H2S
b8 |BEH |VE B S
1mol/L 6mol/L 1mol/L 6mol/L
1mol/L 6mol/L 1mol/L 6mol/L
HCI K2CrOa4|NHa NHa NaOH |NaOH |Na:CO:|H2SOs |KSCN [A%#07/|A%%#57/|H2S
S5(I)ER| #5(I0)ES
SLE B (L= [BF Yk | hynh
Ag’ A A| Ag”
Pb%*|B B|Pb%*
2 2
Cu-*|C C|Cu“*
2 2
Cd“*|D D|Cd""
Fe3* |E E|Fe3*
APt | F F| AR
Zn** |G G|Zn®*
Ba®*|H H|Ba’*
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